, 0
2
()
) )
4 10.70 29.80 135.13
. 0.65 7.29 1.09
5 1 1187 32,17 140.07
S.D. 0.69 8.05 3.08
6 X 12.43 37.05 147.21
0.67 7.53 9.07
2 | 4,5 6
1070 1187
12.43 0.65 069  0.67
©20.80 32.17 37.05
729,805 753 0 135.13
140.07 147.21

1.09, 3.08 8.07



12.41

6.12, 6.66

140.96
6.81, 0.26

1.28

10.51
0.55
11.67
0.62
12.47
0.61

29.45 36.74

it

5.26
145.20

29.45
6.12
36.74
6.66
36.81
5.26

0.55, 0.62

«

10.51

131.31
6.81
140.96
0.26
145.20
1.28

4, 5
11.67

0.61

36.81

34

6

131.31



4 }
da4 X
S.D.
5 X
D)
A dA6 X
5.75

6.89
6.15

51.25
5.42
53.37
4.90
58.70
541

6

5

4

45.13
5.7
46.05
6.89
49.75
6.15

)

51.25,
53.73, 4.90, 46.05

58.70,

5.41,

5.42,

49.75

35

45.13



162.87
1.66
15.71
3.39
14.87
2.23
30.40
2.99
924.70
109.85
51.25
5.42

167.00
8.48
16.44
2.18
16.45
2.22
32.06
3.21
929.97
218.66
53.37
4.90

36

182.18
8.14 __
1750 N
2.36 |
16.97 =
2.23
32.43
3.64
063.43
188.14
58.70
5.41



@15 NN 5 1.

5
4,5 6
150.00 - 182.18

150.00
5.71
12.98
3.00
8.66
2.71
30.74
3.25
616.00
212.15
45,13
5.75

616.00 - 973.43

58.70

150.18
5.01
12.73
3.49
9.07
2.19
31.21
2.39
637.85
141.15
46.05
6.89

30.40 - 32.35

156.47
5.54
13.37
2.69
10.11
2.18
32.55
3.52
682.00
156.77
49.75
6.15

8.56 - 1597
5
45.13 -



38

6 4,
5 6
c 1t
1T
4 5 6 ()
15.711 16.44 17.50 16.55
12.98 12.73 13.37 13.03
14.35 14.59 15.44 14.79
6 4, 5 6
' 14.79
16.55
13.03 ) « 4, 5
1435, 1459 15.44 1



01

»

4, %

N — O

2
1,434
1,439

*P <01 (01 FI, 1434 = .63)

1
6
§s ms
29,407.54 -
22,182,171  22,182.77
3,817.59 2,459.80
281.17 142.58
20,075.61 10.57
59,383.14 -

(.01 F21 1434 =4.61)

1,071.34%
124 51*
11.14*

4, 5

39



01

4,

5 6

15,71
16.44

*P <01

15.71

(01

16.44

0.73

091)

17.50

179
1.06*

01

40



(& I~

01

4,

5 6
4
X 12.98
12.98
12.73
<0l (01
9

12.73

0.25

091)

4, 5

13.37

0.39*
0.64*

41



42

10

4 5 6
X( ) 1571 16.44 17.50
4 12.98 2.73*
5 12.73 3.71*
1337 4.13%
M0l (01 ' = 129

10 '
R



1

01

()
14,35
14,59
*n < 01
11
4 5

45 6
4 5
14.35 1459
0.24
(01 091)
45

15.44

1.09
0.85*

43



12
4,5
h
4
162.87
150.00
156.44
12
152.22
4,5 6
0

167.00
150.18

158.59

6

182.18
156.47

169.23

170.68

44

()
170.68
152.22
16142 1
45 6
161.42

156.44, 158.59 169.23

13



«

13

01

14

05

N — O

2
1,434
1,439

4,5 6

SS ms

2,324,849.06
1,890,220.54 1,890,220.54

126,473.30  63,371.65

307,885.21  153,942.60
28,796,834.94  20,081.47
31,121,684.00

P < 05 (.05 F2, 1,434 = 3.00)
*P < 01 (01 FI, 1,434 = 6.63)

13

(01 Fa, 1434 = 4.61)

45

94.13*
3.16%
1.67*



46

4 5 6 |
X 16287 16700 18218
162,87 : 413 19.31*
167.00 : : 15.18*
<0l (01 = 5.23)
14 6
4 5



15

4,5 6
4 5 6 (
3 150.00 150.18 156.47
150.00 - 0.18 6.47*
150.18 7, i 6.29*
b
<01 (01 = 5.23)
15 6
] 01 4

R 01

47



48

16
! h
4 5 b

X (L ) 16287 16700 18218
4 150.00 12.87* :
5 150,18 - 16.82%
6 152,22 - : 29.96*

<0l 0l = 4.44)
16



17

01

«

«

)

156.44
158.59

01

17

*n < 01

«

156.44

(.01

«

4,5 6

158.59

2.15

. 3.70)

«

« 4

169.23

12.79*
10.64*

49



18
4.5
HAn r
4 5
30.40 32.06
30.74 31.27
30.57 31.67
18
31.63
30.57, 31.67

50

6 ()
32.43 31.63
32.55 31.52
32.49 3158
45 6
3158
3152

32.49

19



51

19

E 4. 5 6

df SS ms F
5 1,931.97 - -
1 273.01 273.01 12.56*
2 1,443.38 721.69 33.20*
2 215.58 107.79 4.96%

1,434 31,170.51 21.74

1,439 33,102.48 -

*P < 0L (01 FI, 1,434  6.63)
(01 F2, 1,434=4.61)

19 4, 5



20

4,

52

5 6

4 5 6
X 30.40 32.06 32.43
30.40 1.66* 2.03*
32.06 0.37*
<0l (01 = 1.29)
20 5 6
«
01 5 6



21
4, 5 6
4
X( ) 30.74
4 30.74
5 31.27
*p < .05 (.05
*n <01 (01
21
! 4 h
« 4

53

5 6
31.27 32.25
0.53 1.81%
1.04)
1.29)
6
m 1 01 05



4, 5

22

54

30.74
3127
32.55

< 01 (01

22

01

30.40

0.34*

5 6
32.00 32.43
0.79*
0.12%
1.09)



55

23 "o »
) « 4, 5 0
4 5 0
X( ) 3057 - 31.67 32.49
30.57 - 1.10 1.92*
) 31.67 - - 0.82*
<01 (01 = 0.91)
23 )
4 01 b 0

01



24
5 0
*ml
4
14 87
8.66
11.76
24
11.76, 12.76

16.45
9.07

12.76

16.10

13.54

56

4,
6 C )
16.97 16.10
10.11 9.28
13.54 12.69
4,5 6
12.69
9.28
4,5 6

25



26

25

N RO s Ol

1,434
1,439

S

29,407.54
24,004.77
4,919.59
483.17
31,086.72
60,490.25

ms

24,004.77
2,459.80
241.58
21.68

*P < 01 (01 FL, 1,434 = 6.63)
(01 211434 = 4.61)

25

051 '3

57

1,107.32*
113.47*
11.14%



26

4,

14.87
16.45

*n <01

01

5

26

01

)

(01

14.87

16.45

1.58

1.29)

16.97

2.10%
0.52*

58



21 «
4 5 6
4
) | ) 8.66
4 8.66
h 9.07
<01 (01
21

9.07

0.41

1.29)

59

10.11

1.45*
1.40*



28

« h
4
X ) 14.87
4 8.66 6.21*
5 9.07 -
6 10.11
< 0L (01
28

01

60

5 6
16.45 16.97
7.38*
6.86*
1.09)



29

ft

X ( )

11.76
12.76

*n < .01

29

01

4, 5

11.76

(01

01

5

12.76

1.00

N

13.54

1.78*
0.78*

61



845.28

30

4, 5

30

6
4 5
924.70 929.97
816.00 §37.85
870.35 883.91
942.70
5 §70.35, 883.91

6

973.43
882.00

921.72

921.72

!

942,70 1
845.28

893.99

4, 5

5

4, 5
893.99

3l

)

62

6



31

N N — Ot

1,434
1,439

S

132,058.40
51,010.24
6,482.22
510,721.62
100,272.49

ms

132,058.40
25,505.12
3,241.11
356.15

VP <0l (01 F111,43 = .63)

31

01

63

370.79*
71.61*
9.10%

32



32
45
X( )
924.70
5 929.97
<0l (01
3
5
4

01

924.70 929.97

5.23

39.29)

64

973.43

48.73*
43.64*



33
45 6
()
816.00

5 837.85
< 01 (01
33

45 S

837.85

21.85

5.23)

01

882.00

66.00*
44.15%

65



66

34 5

h
4 5 6

() 02470 92997  973.43
4 816.00 108.70* —
5 837.85 - 92.12% :
b 882.00 - : 91.43*

0 01 (01 = 33.31)

34 5

01



35
45
*
4
X( ) 870.35
4 870.35
5 883.91
< 01 (01
35
5
01 —

883.56

13.56

- 22.41)

67

5
6
921.172
57.37*
43.81%
6
0!



68

36
4,5 6
SuusEonmne TR
L el ; 570
4 5 6
57 51.25 53.37 58.70 54.44
Wi 45.73 46.05 49.75 47.18
570 48.49 49.71 54.23 50.81
36 « 4 5 6
50.81
54 .44 47.18
4. 5
48.49, 4971 54.23 -

31



31
4, 5

RO N — Ot

1,434
1,439

SN

24,485.39
17,664.31
5,138.84
1,082.24
50,891.56
15,376.95

1N

17,664.31
2,869.42
541.12
35.49

*P < 01 (01 F2, 1,434 = 4.61)

31

69

497.74*
80.85*
15.25*

38



38

01

4,

5 6
4 5
< 51.52 53.37
51.25 , 2.12
53.37
<0l (01 = 1.65)
38

10

58.70

1.45%
5.65*



39

4, 5 6
4
X 45,73
45.73
46.05
o< 01 (.01
39
1] I01

46.05

0.32

11

49.75

4.02*
3.70%



40

4
T 51,25
45.73 5 50%
46.05
49.75
< 01 (0L
40

01

72

«

5 6
53.37 54,44
7.30%

4.69*
1.40)



“ 7 7o
) 4,
4

7 48.49

48.49

5 49.71

< 01 (01
1 0
6

01

5

49.71

1.22

= 3.70)

13

50.81

2.32*
1.10*
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